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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 9983671103
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836720325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1, 2, 3, 4, 5 and 6. In the options, four possible arrangements of these numbers
are given. Choose the option so that the letters form a meaningful word.

P KANTID

1 2 3 4 5 6
Options:

1. % 231465

2. % 321564

2% 435218

4. % 256431

Question Number : 1 Question Id : 99836720325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1 2 3 4 56

Options:

1. % 231465
2. % 321564
3. % 435216
4. ¥ 256431

Question Number : 2 Question Id : 99836720326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % PM]
2. % WTQ
2. % LIF
4. ¥ TW3



Question Number : 2 Question Id : 99836720326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % PM]
2. % WTQ
2. % LIF
4. ¥ ZW5

Question Number : 3 Question Id : 99836720327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Zut of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. ® Eajra
Z. % Jowmar
2. ¥ Barley

4. % Maize

Question Number : 3 Question Id : 99836720327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % gFT
2. % T
3 ¥t
4. % TFET

Question Number : 4 Question Id : 99836720328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
term

EEY :F¥Z :  SCP: 7
Options:

1. * WHE

2. % WES

2. % VDR

4. ¥ WGT

Question Number : 4 Question Id : 99836720328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % WHE

2. % VES

2 % VDR

4. % WGT

Question Number : 5 Question Id : 99836720329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 & certain code language, WIRE = 64, GLOEE = 125, STATUE = 216, then what will be SILICON coded 357

Options:
1. % 542
= ¥ 343
3% 49
4. % 240

Question Number : 5 Question Id : 99836720329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TeT Fig AT H, WIRE = 64, GLOEE = 125, STATUE = 216 §, 91 SILICON T Fig &7 57

Options:
1. % 54z
2. ¥ 343
2% 49
4. % 240

Question Number : 6 Question Id : 99836720330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If CAFE is coded as 2165, then what will be EADGE coded as?

Options:

1. % Z2LEE
2. % 10364
3. ¥ 21475

4 % 21644

Question Number : 6 Question Id : 99836720330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e CAFE #3165 & &0 H FI1Ed [HraT 91971 5, 91 BADGE 1 oFe were il e s ?

Options:

1. % Z2ERE
2. % 103264
3. ¥ 21475

4 % 21694



Question Number : 7 Question Id : 99836720331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five friends were comparing their marks. Ranjan's marks was greater than Manish's mark but less than
Geeta's. Ashish's rrarks was greater than Sonall's but less than Manish's. Who has the lowest marks armong all ?

Options:

1. % Sonali
2. % Geetg

2. % Manish
4. % pghish

Question Number : 7 Question Id : 99836720331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & gt

2 % 1T

3 ®

4. % iy

Question Number : 8 Question Id : 99836720332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assuming that the information in the statement is true,
even if they appear to be in variance with commonly known facts, select which of the conclusions logically
followis) from the statement beyond reasonable doubt.

Statermnents
I. &1 doctors are dancers.
IT. All dancers are singers.

Conclusions

I. &ll doctors are singers.
II. Mo singers are doctors.

Options:

1. % Cnly conclusion I follows.

2. % Only conclusion I follows.

2. % DNeither of the conclusion follows.

4. % Both conclusion I and II follows

Question Number : 8 Question Id : 99836720332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Termeny:

1. &t ZTerat T 2
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Options:

1. e e 1 SIgewoT a8l

2 % et Tomad 11 SIgER FaT gl

3. % g ot Fmad ergE TRt W
4 % T ] ol 11 g e a8l

Question Number : 9 Question Id : 99836720333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1.9 171
2. % 289
2% 169

4 % 351

Question Number : 9 Question Id : 99836720333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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STAT

Options:

1.¥ 171
2. % 289
2% 169

4 % 351

Question Number : 10 Question Id : 99836720334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that 1s related to the third nurnber on the same basis as the second number 15 related to the
first nurmber.

00225015 00001697
Options:

1. % 00013

2. % 13

2 %01

4. % 0013



Question Number : 10 Question Id : 99836720334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 Terped T e e ST o T ST F FHT HE | Helled § A T e ST g Sl § et )

00Z25:0.15 0000153 :7
Options:

1. % 00013

2 % 13

=% 01

4 ¥ 0013

Question Number : 11 Question Id : 99836720335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs should be interchanged to make the below equaticon mathernatically correct?

15+2-4=x5+32=18
Options:

1. % w, =+

2% -+

% 4+ -

4 ¥ - x

Question Number : 11 Question Id : 99836720335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et TarT T ST o O 0 & AR e o oy T o el @ e S T AT Aiia

15+23-4=x5+3=18
Options:
1. % = =+

2% - =

3 % o4 -
4. 9 - x

Question Number : 12 Question Id : 99836720336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nurmbers should be interchanged to make the below equation mathematically correct?

2B+ ¥ XE-2+10=186
Options:

1. % 3, 10

2 ¥ E 3

=% 7,3

4 % g 10

Question Number : 12 Question Id : 99836720336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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2E+ TV xE-24+10=18&
Options:

1. % 3,10

2. ¥ 3

% 7,3

4 % g, 10

Question Number : 13 Question Id : 99836720337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing number in the following number series.

569 456, 3.435,
Options:

1. % 215

2. % 217

=% 221

4 ¥ 23

——————

Question Number : 13 Question Id : 99836720337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrRTeTRET ST St | TR HEdT AT H

.69, 456, 2.43,
Options:
1. % 215

2 % 217
3% 221
4 ¥ 23

, 117

Question Number : 14 Question Id : 99836720338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If means +, > means - and § means x, &means - then what is the value of 225&1582-5<10 7

Options:
1. % 1110
2. % 1120
2% 40
4. % 50

Question Number : 14 Question Id : 99836720338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At wTemf + 8 > WTamf - B § T anf x 8 AW & WTanf - § 9T 225&1533>5<10 T 45 747 57
Options:

1. % 1110

2. 0% 1120



3. % 40
4. ¥ 50

Question Number : 15 Question Id : 99836720339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following Venn diagrams best represents the relationship between horses, herbivores and
domestic anumals?

Options:
@)
| | ! |
1 ® ‘\\““_/
."f--.\'.
e
o of \—/
" e
AN/
3 B NS

Question Number : 15 Question Id : 99836720339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 16 Question Id : 99836720340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A person walks S larn towards north and then turns towards east and walks 5 ko He then turns right and
walls 10 lar and again turns right and wall: 6 lan He then turns right and walks 5 ko Where 15 he standing
right nowe with respect to the starting point?

Options:

1. % 2 ki west
Z ¥ 2 lar east
3. % 4 Jam west
4. % 4 Jar east

Question Number : 16 Question Id : 99836720340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® 2l oR2m

2 ¥ 2k e
3. % 4k Ui
4 % 4kmqd

Question Number : 17 Question Id : 99836720341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following cubes in the answer figure CANMNOCT be made based on the unfolded cube in the
question figure?

[]

Options:




A
[]

Question Number : 17 Question Id : 99836720341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IO AT | o O W U AT id B U O o ST U AR ST AT Aed T 57
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Options:

Question Number : 18 Question Id : 99836720342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cut of the given options, three are similar in a certain manner. However, one option is NOT like the other three,
Select the option which is different from the rest.

Options:



XXX
X
1. ™ A
A
XX
gz . X
XA
]

NKN|  |[XENX

(N
)4

i

Question Number : 18 Question Id : 99836720342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

XXX
X
i, W 4
A
XX
L« X K
X
XA
3 % XX
K
X
4 v AXIN

Question Number : 19 Question Id : 99836720343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which answer figure will complete the pattern in the question figure?
A
> |

Options:

Question Number : 19 Question Id : 99836720343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFTT T4 AT+ H G 1 T FAT?

P
NE

Options:




Question Number : 20 Question Id : 99836720344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the givern answer figures, select the one in which the question figure 15 hidden jermnbedded.,

Options:

NI
A

4 o

Question Number : 20 Question Id : 99836720344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
L~
=~
AN\
- 374 AVAR
3 %
4
General Awarerness
Group Number : 2
Group Id: 998367751
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Gerieral Awareness
Section Id : 998367872
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671104
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836720345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following states Dumhal dance is associated?

Options:

1. % Himachal Pradesh
2. % Azsam

3. % Jarmrmu & Kashmir

4 % TIttar Pradesh

Question Number : 21 Question Id : 99836720345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5 & & o T 3 W T o ST 5eT 87
Options:

1. % U= ng

2. % an

3. ¥ S S WA

4 R FOvudar

Question Number : 22 Question Id : 99836720346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following state is Baryi folk music related to?

Options:

1. % Himachal Pradesh
2. ¥ Arunachal Pradesh
3. % Assam

4. # west Bengal

Question Number : 22 Question Id : 99836720346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TergieriaT & & fowg T o |y st dfler St Heited 27

Options:

1. % U= ng
= W STEUT e
3. % s@RE

4. % UhEam AT



Question Number : 23 Question Id : 99836720347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eali Jatra festival, which is celebrated for seven days, is associated with which of the following states?

Options:

1. % Mizoram

= ¥ Odisha

2. % Harvana

4. # Madhva Fradesh

Question Number : 23 Question Id : 99836720347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT TeAT T AT ST ST A6 T AR Hhiedd | & T 77 & 9T 271 57

Options:

1. % firRm
o afzam
z. % gl

4 ¥ mrmwoa

Question Number : 24 Question Id : 99836720348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which among the following banks is associated with granting loans to small farmers and laborers so that they
can start farming activities?

Options:

1. % REI

2. % SEI

2. % NAEARD
4. ¥ REE

Question Number : 24 Question Id : 99836720348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # 8 ® A oo 91¢ Tharar ST Agel @ 2 & # 2T g a1 o Wl T i e 4F @ ady

Options:

1. % satems
2. % TEelamg
3 ® qEE

4 & JTARET

Question Number : 25 Question Id : 99836720349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich armorng the following taxes is imposed on the entry of goods into a local area?

Options:
1. * Value Added Tax
2 % Octroi tax



3. * Pigovian tax

4 % Tobin tax

Question Number : 25 Question Id : 99836720349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # & B9 a7 uF S ST H AT & WS 0 AT AT 87

Options:

1. % gr atdd &%
2. ¥ iFeTs Tad
3. ® ot dae
4 % T T

Question Number : 26 Question Id : 99836720350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the 5I unit of pressure?

Options:

1. ¥ pascal
= % ampere
2. % joule

4 % newton

Question Number : 26 Question Id : 99836720350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT & 5] TS FAT 57

Options:

1. ¥ T

2 % gineR

3 % gA

4. % =g

Question Number : 27 Question Id : 99836720351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bone rmineral density (BMD) testing 15 done to diagnose which of the fOllOW‘iI‘lg diseasesy

Options:

1. % AIDS

2 ¥ Osteoporosis
3. # Dengue

4 % Malaria

Question Number : 27 Question Id : 99836720351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 2T T (e wy el ot # | e T & e Ry s ee
Options:

1. % =g



2. ¥ aferaRie

3 % 21
4. % Fetfem

Question Number : 28 Question Id : 99836720352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Florida Strait conrnects the Gulf of Mexico with the

Options:
1. % Antarctic Ocean

= % Bay of Bengal
3. % Arctic Ocean
4 % Atlantic Ocean

Question Number : 28 Question Id : 99836720352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TATTET A i-ar Hiererer! & @It o1

Options:
1. % sETEfe® AFTANT

2. % A HTEET

3. % FuEE  EErT
4. & EANCE HETETT

Question Number : 29 Question Id : 99836720353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Maithon Dam located?

Options:

1. % Azsam

2. % Tharkhand
3. % Gujarat

4 % Himarhal Pradesh

Question Number : 29 Question Id : 99836720353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fere e e § o o tea | e g
Options:

1. % s@m

2 ¢ AREE

3 ® TR

4, % TEHER 0L

Question Number : 30 Question Id : 99836720354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What i3 the highest point of The Eoclies, mountain rarnge of Morth America?

Options:



1. ® Mount Aconcagua
= % Mount Blanc

3. % Mount Everest

4. % Mount Elbert

Question Number : 30 Question Id : 99836720354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T STHTCRT bl Ueld 5Tl & TTpiet T [ Teig &l 57
Options:

1. % [T aplwmTaT

2. ® WOTIT el

3. ® ¥IT g

4 & AT Ureld

Question Number : 31 Question Id : 99836720355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who ameng the following Governor General of India devised the "Doctrine of Lapse™

Options:

1. * Lord Curzon

= % Lord Mounthatten
2. ¥ Lord Dalhousie

4. % Lord Hastings

Question Number : 31 Question Id : 99836720355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT o g Agweane | & e "samT &7 Fga 3o e
Options:

1. ® Fi2 F=

2. % F12 AT

3. o F@E SR

4. % 1 R

Question Number : 32 Question Id : 99836720356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[tn Batuta wisited [ndia under the reign of

Options:
1. % Devraya ll

= % Muharmmad-Bin-Tughlag
2. * Krishnadeva Rava
4. % Deyrayal

Question Number : 32 Question Id : 99836720356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
EA-AdAT A ___ B A o R T & T am



Options:

1. % gl

2 gemg e e
3. ® gundg T
4. ® T

Question Number : 33 Question Id : 99836720357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
when was the battle of Ghaghra fought?

Options:

1. % 1527
2 % 1528
3. ¥ 1529
4 % 1530

Question Number : 33 Question Id : 99836720357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTERT T o, Tl oz 11T 77

Options:
1. ® 1527

2. % 1528
3. ¥ 1529
4. % 1530

Question Number : 34 Question Id : 99836720358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr many mermiber countries are a part of UN as of April 20197

Options:

1.¥ 193
2 % 1390
3. % 195
4 % 198

Question Number : 34 Question Id : 99836720358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MW 2019 T Tod-r AaeT oo T T8 & Rear g7

Options:
1.¢ 192

2. % 190
3. % 195
4 % 1938

Question Number : 35 Question Id : 99836720359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which among the following is the highest peacetime mulitary decoration?
Options:

1. ¥ Ashok Chakra

2. % Kirti Chakra

3. # Shaurya Chakra

4. % Sena Medal

Question Number : 35 Question Id : 99836720359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETET § & ® 9 Je geT difd 6 [ 27

Options:

1. & 1t =
o % HT oW
3 % g

4. ® gaTHEA

Question Number : 36 Question Id : 99836720360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which amendment added Santhali in the list of recognised languages?

Options:
1.9 a2
=z % 52
3. % &0
4. % g1

Question Number : 36 Question Id : 99836720360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T e = AT AT 0T ATt = g e
Options:

1.9 a2

= % Cp

3. % 50

4 % g1

Question Number : 37 Question Id : 99836720361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The concept of 'Procedure established by Law' of Indian Constitution is borrowed from the constitution of

Options:

1. #¥ Germany

= ¥ Japan

3. % France

4. % Union of Soviet Socialist Republics (I55ER)



Question Number : 37 Question Id : 99836720361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
O = AT i et ST ST uira @ ST _ o I & AR TS 21

Options:

1. % Fr-t

=i iric

3 % mE

4. % HiTT T T AT F 99 (US5E)

Question Number : 38 Question Id : 99836720362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The _______ schedule of the Indian Constitution contains provisions for disqualification on ground of
defection.

Options:

1. * Fighth
= % Ninth
3. ¥ Tenth
4. % Fifth

Question Number : 38 Question Id : 99836720362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A e e &t _______ AT | SHee & ST U SRTTIT 3 WTeeT 2l
Options:

1. % amadf

2 % it

3 v gEdl

4 % s

Question Number : 39 Question Id : 99836720363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following tearns had won the FIFA World Cup 20157

Options:

1. % France

Z % Croatia

2. #® Uruguay
4. % Belgium

Question Number : 39 Question Id : 99836720363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgieT # & fope S = T e 0 2018 ST ar?

Options:

1. v we

2 % gmtdET
3 % For



4. % Jieaam

Question Number : 40 Question Id : 99836720364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who among the following female players has won the most wWimbledon Singles title?

Options:

1. ¥ Martina Navratilova
2. % Chris Evert

3. ® Steffi Graf

4 #* Serena Williams

Question Number : 40 Question Id : 99836720364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrgferiaT & @ T afgeT et = aud afdw Hade T gee ater T &7

Options:
1. griesr FerTiaeET

2 % fFgoad
2 ¥ Ty O
4. % g Eeee

Arithmetic Ability

Group Number : 3
Group Id : 998367752
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Ahility

Section Id : 998367873
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 9983671105
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836720365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
80 multiplied by the square of a number gives the cube of 4 tirmes the number. Find the number.

Options:
1. %08
2. %1
=% 12
4. % 125

Question Number : 41 Question Id : 99836720365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T HET o a1 1 50 § 0 H- U8 I TEIT &F 4 AT T o U0 51a7 51 05 T€a] JA1d F1
Options:

1. % 0.8

o %1

w12

4 9 125

Question Number : 42 Question Id : 99836720366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six bells comrmence tolling together and toll at intervals of 2,4,6,8,10,12 seconds respectively. In 20 minutes,
how many tirmes do they toll together?

Options:
1. % 15
= ¥ 18
2% 18
4 % 20

Question Number : 42 Question Id : 99836720366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TE Wil U G a1 € Bl 5 A A 2,4,6,8,10,12 §F & a0 W a1 gl 30 e #, o Rraat @ U 9w aad 87
Options:

1. % 15

= ¥ 15

2 % 1R

4. % 20

Question Number : 43 Question Id : 99836720367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat decimal of a day is a minute?

Options:



1. % 000058
2. % 000062
3. ¥ 000069
4. % 000072

Question Number : 43 Question Id : 99836720367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T U T o7 SamAe # Far |nr 87
Options:

1. % 0.00058

2. % 000062

3. 9 000069

4. % 000072

Question Number : 44 Question Id : 99836720368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& car owrer buys petrol at Bs. 4, Bs. B and BEs. 8 per litre for 2 consecutive years. What is the average cost per
litre of petrol if he spends BEs. 40,000 each vear?

Options:

1. ®# Rs. 4.82
= % Rs 492
3. ® Rs. 517
4 ¥ Rs 522

Question Number : 44 Question Id : 99836720368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T ATGd a5 qop &0 4, 702 5 37 202 8 0id #ied o e & Ugia |iiedr 51 &M g% 50 au &0 40,000 &=
FATE a1 U2 Il &1 0T Alet S7ed S AT T 27

Options:
1. % =Er 4 82

> R w492
S ¥ Epgcoi7
4 ¥ w5 20

Question Number : 45 Question Id : 99836720369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ar itern was sold for Bs. 2400 after 2 successive discounts of 40 percent and 50 percent. What is the marked
price of the itern?

Options:
1. # Rs. 7200

2. % Rs. 7500
3. # Es. 6000
4. % Rs. 8000



Question Number : 45 Question Id : 99836720369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
40 Wit e & SO Uitad & 2 wiHw go & 91 UF a5el & o0 2400 H =T 9T 9m 39 Agen F1 RIigT Jed 74T 57

Options:

1. % #7200
2. % T 7500
3. % w5000

4« = 2000

Question Number : 46 Question Id : 99836720370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three candidates contested an election and received 4000, 6000 and 5000 votes respectively. What
percentage of votes did the winning candidate get?

Options:

1. % 2E percent

2. % 32333 percent
3.9 40 percent

4 % 50 percent

Question Number : 46 Question Id : 99836720370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 IrtEaR! = 0w oA @eT AT 30 @HE 4000, 6000 7 S000 1T Tie Sia- o Iniiear i - aidad aie ie?

Options:

1. ® 25

2. % 3333 0ideT
= ¥ 40 nideT

4 # opouigaT

Question Number : 47 Question Id : 99836720371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& fruit seller had sorme bananas. He sells 45 percent bananas and still has 550 bananas left. How rmany
bananas did he originally hawve?

Options:

1. % 1100
=z % 1000
2% 200
4. % 900

Question Number : 47 Question Id : 99836720371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T el Tl T o UTH P ol 21 OF 45 Wid 9T el skl g 1 36 01 ardt ff S50 3% ol 31 U7 ®9 § J6% 079 (- ol 47

Options:
1.% 1100

2. ¥ 1000




3. % 500
4 % 500

Question Number : 48 Question Id : 99836720372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ bought goods worth Rs. 7500, He gets a rebate of 10 percent on it. After getting the rebate, he pays sales tax
at the rate of 12.5 percent. What is the final amount that he has to pay?

Options:

1. % Rs 7500

2. % Rs 7533.75
3. ¥ Rs. 7593.75

4. ® Hs 7825

Question Number : 48 Question Id : 99836720372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ T 70 7500 T A GUEn I 50 0 10 Aidad @ g Werdt 5 g7 e & |, 9% 12.5 Wiaad uT &5t 0 6 i Fear
21 T SITdH LR T g et 38 YIa T #AT 57

Options:

1. % =3 7500

o % ¥ 7533.75
= o B 759375

4 ¥ Frd 7E25

Question Number : 49 Question Id : 99836720373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
©mn selling 15 balls for Rs. 750, there is a loss equal to the cost of 2 balls. What is the cost price of 1 ball?

Options:

1. % REs &0
Z ¥ Hs 625
2. % Es B0
4 % Hs 72

Question Number : 49 Question Id : 99836720373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 750 ¥ 15 Tl @i s o7 3 gt & A & e Jeed giaT a1 1 e & A god a9 87

Options:
1. % &g 50

o BRI E2 S
z % Ede0
4 ¥ Fyg 7o

Question Number : 50 Question Id : 99836720374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The surmn of 2 numbers is 52. The ratio of the first to second is 4.5 and that of second to third is 2:5. Find the
secornd nurnber.



Options:
1. %5
2. % 10
3% 20
4. ¥ 15

Question Number : 50 Question Id : 99836720374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

= s A AT S2 B Ugell 8§ GEC T FT AU 4:5 § S gar § FIET &7 SRu 3:5 31 gEil Sy A1 B
Options:

1. %5

2. % 10

2% 20

4 ¥ 15

Question Number : 51 Question Id : 99836720375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sum of 2 numbers is 226, The ratio of the first to second is 3:4 and that of second to third is 5:6. Find the
second nurmber.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1,27

2. 30

3. 33

4. 36

Question Number : 51 Question Id : 99836720375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3 HEATEl B AT 236 31 Ugei! O el e B ST 34 § Sl E & L 65T 7 S 506 31 gLl §E a1 A1 w

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 27

2. 30

3. 33

4. 36

Question Number : 52 Question Id : 99836720376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inabag, there are coins of 25 paise, 50 paise and Rs. 1in the ratioof €0 7 4. In there is Bs. 90 in total, how
mAany 25 paise coins are there?

Options:
1. % 54

2. ¥ B0
3% BB



4 ® 72

Question Number : 52 Question Id : 99836720376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TF e 67 4% aud # 25 09, 50 06 ok 1 # & g 81 981 FT Rs 90 8, I 25 39 & fora - g 27

Options:
1. % 54
2 ¥ ED
2. %GB
4 % 72

Question Number : 53 Question Id : 99836720377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ invested an amount of Bs. 15,000 in a fixed deposit for 2 years at compound interest rate of 5 percent p.a.
Howr rrach amount wall he receive at roaturity?

Options:

1. % Rs 16,500
2. % Rs 15,750
3. ¥ Rs 16,5375

4 % Hs 17,2855

Question Number : 53 Question Id : 99836720377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

K 75 uiderg uid o & rebaeg =0T 2€ UF 2 T o Toid Sate AT § #0615, 000 T e &7 e frm aftogar woas
ToFaT et ety

Options:

1. % #703 16,500
2. % @ 15,750
3. ¥ T 16,5375
4, % T 17,2655

Question Number : 54 Question Id : 99836720378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ina flight of 1500 krn, an aircraft was slowed dowrn due to bad weather. [ts average speed for the trip was
reduced by 200 krmfh and the time of flight was increased by 2 hours. What was the original duration of the
flight?

Options:
1. % 2h

2. ¥ 3h
3. % 4h
4 % 5h

Question Number : 54 Question Id : 99836720378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



1500 krn & I H, T HIGA & TR0 Tor 0T 20T 57 73T oM 373 o 60 saa aff|d Tid 200 kmjh &0 51 TE ot ofiT
TS FTHAA 2 b o TR 9N ST T A STa e T ot

Options:
1.% 2h
2. % 3Zh
2. % 4h
4 % G5 h

Question Number : 55 Question Id : 99836720379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A is thrice as good as workman as B and takes 22 days less than B. In how many days can they do the work by
working together?

Options:
1. ¥ 12
2 % 125
3. % 13
4 % 135

Question Number : 55 Question Id : 99836720379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&, B & 19 AT amaT FHENR § 31 B # 32 T4 @0 oidT g1 o Uk G ®IH Hich Tk Ta-T § og HIH @ G 57
Options:

1.¥ 12

2. % 125

3% 13

4 % 135

Question Number : 56 Question Id : 99836720380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A can do a work in 24 days and E can do the work in 22 days. If they work together for 8 days, what fraction
of worl: is left?

Options:
1. ¥ E5fiz
2. % 12
3% 7112
4 % 1/3

Question Number : 56 Question Id : 99836720380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A Toret @ & 24 AT 6 e aFaT £ oW E s9 & ®1 32 foat # 9 gwar 21 I 8 At & Toiu U o 0 ed |, 97 FH &
I T 247 =TT 57

Options:

1. ¥ 51z
2 % 1/2
30w 71z



4 % 13

Question Number : 57 Question Id : 99836720381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The length and breadth of a room are 15 mand 20 mrespectively, &4 cat runs along all the four walls and
finally along a diagonal order to catch a rat. How much total distance is covered by the cat?

Options:

1. % 70m
2. % 90m
2 ¥ 495m
4 % 75m

Question Number : 57 Question Id : 99836720381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T T AT ST T A 15 m 3T 20 m B U Fee T g T mwe i Ty At S1ant i ey ae ot o i
e Terenl o AT et g1 Telwell &y et Toha=it geT a7 o =TT 37

Options:

1. % 70m
2. % 90m
2. ¥ 495m
4 % 75m

Question Number : 58 Question Id : 99836720382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

100 men took 3 dip in a water tank 50 mlong and 20 m wide. If the average displacernent of water by a man
155 mg, thern what is the rise in the water leveal?

Options:

1. % 40cm

2 ¥ 5ocm

2 % E0cm

4. % 7Eom

Question Number : 58 Question Id : 99836720382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

S0 m de H 20 m T2 U F da # 100 F7A T Zerht /el 1fr e ST ZRT O T s e 5 m E e e #
T Jig Foreit 77

Options:

1. % 40cm

. ¥ E0com

3. % B60Cm

4. % 7Ecom

Question Number : 59 Question Id : 99836720383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following table shows the revenue generated (in 000s) for different toothpaste brands in different cities.
Wwhat is the average revenue generated (in 000s) from Mew Delhi for all the brands?

Toothpaste |West Bengal |[New Delhi |Mumbai Bangalore
Colgate 435 580 780 550
Pepsodent 3504 750 550 620
Sensodyne 280 650 320 420
Close-Up 250 390 520 380
Options:

1. % R5 4285

2. % Rs. 5605

3. % Rs. 4355

4, ¥ Rs. 5925

Question Number : 59 Question Id : 99836720383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt aiice &g aget § Ry gt wist & T (000 #) Ioug T @1 3uidT 81 Wt et ¥ Ty 98 e 9 3eug
(D00 H e T 77 87

arfFas Eid )

YU | @ foedll [HEg  [dTER
BT 435 580 780 550
ywide 350 750 550 620
il 280 650 380 420
Gl el 250 390 520 380

Options:

1. % w4285

2 ® wSEQS

2. % = 4355

4 ¥ T 592 5

Question Number : 60 Question Id : 99836720384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following bar graph shows the production of maize {in million tonnes) over different years. In which vear
the highest growth in production of maize was recorded?

Hlﬂﬂ

250
= 250 210
3 :2 120 e =
5
£ 100
E 50
0

2015 2016 2017 2018 2019
Year

Options:

1.9 2016
= % 2017
3. % 2018
4, % 2015

Question Number : 60 Question Id : 99836720384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaieET = e g ant # Ag (Toteee o #) & Ioae T @ SaiaT 5 o Ay | WET o JouieT | SairiE gy o @l T 57

300

250
= 200
E 150 115
100
1% I |
0

2016 2017 2018 2019

4 ]
Options:
1. 2016
2 % 2017
3. ® 2018
4 % 2015

rereral English

Group Number : 4
Group Id: 998367753
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General English

Section Id : 998367874

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671106
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836720385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

&) The state Governument | (B) does not care for [ (C) the poor people of the state. [ (D) No error
Options:
1. % 4
2. % E
% C
4 ¥ D

Question Number : 61 Question Id : 99836720385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "Moo error”
option.

(&) The state Goverrunent | (B) does not care for [ (Z2) the ROOr people of the state. [ D) No error
Options:
1. % 4
2. % B
3% C
4 ¥ D

Question Number : 62 Question Id : 99836720386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&) Seerna folded | (E) her handkerchief| () very neat. [ (D) No error
Options:
1. % 4
2. % B
IV C
4 % D

Question Number : 62 Question Id : 99836720386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "Moo error”
option.

(&) Seerna folded | (E) her handkerchief| (Z) very neat. [ (D) No error
Options:
1. % 4
2 % B
I C
4. % D

Question Number : 63 Question Id : 99836720387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options giver.

If Rajesh (should hawve tried) he would have achieved it
Options:

1. % had tried

2. % hawve tried

2% will try

4. # yms tried

Question Number : 63 Question Id : 99836720387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

If Rajesh (should hawve tried) he would hawve achieved it.
Options:

1. % had tried

2. % have tried

2% will try

4. ® yas tried

Question Number : 64 Question Id : 99836720388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options giver.

Mo sooner (than Shweta saw) the dog, she ran away.
Options:

1. % Shweta has seen

2. % did Shweta seen

2. * did Shweta saw

4. % had Shweta seen

Question Number : 64 Question Id : 99836720388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

Mo sooner ithan Shweta saw) the dog, she ran away.
Options:

1. # Shweta has seen

2. % did Shweta seen

2. % did Shweta saw

4 % had Shweta seen

Question Number : 65 Question Id : 99836720389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the appropriate word.

We hawe never been o China,
Options:
1. % never

havwe we visited Japarn.

> ® not
3. % neither
4 ¥ nor

Question Number : 65 Question Id : 99836720389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the appropriate word.

We hawe newer beern to China,
Options:
1. % never

hawe we visited Japarn.

2 % not
2. % neither
4 % nor

Question Number : 66 Question Id : 99836720390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

The author adwised

P to write 3 letter to their
) the young people wihio
E : parents once a weck

5 work at distant places

Options:

1. % QRSP
2. % QS5PR
2. % SQPR
4. % REPQ

Question Number : 66 Question Id : 99836720390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

The author adwised

F : to write a letter to their
) : the young people who
E : parents once a weal,

5 owork at distant places

Options:

1. % QRSP
2. % QS5PR
2. % SQPR
4. % REPQ

Question Number : 67 Question Id : 99836720391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Out of the four alternatives, choose the word which best expresses the meaning of the given word.

Junlk

Options:

1. * Treasure
2. % Scrap
2% Gem

4. % Antique

Question Number : 67 Question Id : 99836720391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which best expresses the meaning of the Ziver word.

Junlk

Options:

1. % Treasure
2. ¥ Scrap



3% Gern

4. % Antique

Question Number : 68 Question Id : 99836720392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPPOSITE in meaning to the given word,

Feud

Options:

1. ® Quarrel
2. % Gentle

2. ¥ Harmony

4 % Robust

Question Number : 68 Question Id : 99836720392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word,

Feud

Options:

1. % Cuarrel
= % Gentle

2. ¥ Harmony

4. % Robust

Question Number : 69 Question Id : 99836720393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. #* Peluicid
2. % Pelucid
2. % Pelluicid

4. ¥ Pellucid

Question Number : 69 Question Id : 99836720393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. %® Peluicid
2. % Pelucid
3. % Pelluicid

4. ¥ Pellucid

Question Number : 70 Question Id : 99836720394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. ¥ Renagede

= % Renigade

3. % Ranegede

4. ¥ Renegade

Question Number : 70 Question Id : 99836720394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. #¥ Renagede

2. % Renigade

2. # Ranegede

4 ¥ Renegade

Question Number : 71 Question Id : 99836720395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ® Vosiferous
= ¥ Vociferous
3. % Yociferos

4. % Vosiferos

Question Number : 71 Question Id : 99836720395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. ® Vosiferous

= ¥ Yociferous

3. ® vociferos

4 * Vosiferos

Question Number : 72 Question Id : 99836720396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following idiom mean?

Herculean task
Options:

1. % Boring task

2. * Easy task

Z. % Interesting task

4. % Extrermnely difficult task



Question Number : 72 Question Id : 99836720396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following idiom mean?

Herculean task
Options:

1. # Boring task

2. % Easy task

3. % Interesting task

4. % Extremely difficult task

Question Number : 73 Question Id : 99836720397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does the following idiom mean?

Elbwomr roorm

Options:

1. % The freedom to do what you warnt.
= % Restructuring a room's design.

3. # A roorm that's very small.

4. % To restrict sormeone from doing something.

Question Number : 73 Question Id : 99836720397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fOllOW‘iI]g 1dicrr mean’

Elbow roorm

Options:

1. ¥ The freedorn to do what you warnt.
2. % Restructuring a room's design.

2. % A roormthat's very small.

4. % Torestrict someone from doing something.

Question Number : 74 Question Id : 99836720398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
wiords | sentences.

A& cornmunity of people smaller than a willage
Options:
1. %# Shoal

2. % Posse
= % Horde
4. % Harrlet



Question Number : 74 Question Id : 99836720398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words [sentences.

A cornmunity of people smaller than a willage
Options:

1. % Shoal

2. % Posse

=2 % Horde

4 ¥ Hamlet

Question Number : 75 Question Id : 99836720399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
wiords [ sentences.

A person who takes pleasure in eating and drinking.
Options:

1. % Cynic

2. % Fanatic

3. ¥ Epicure

4. # Fugitive

Question Number : 75 Question Id : 99836720399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of four alternatives, select the alternative which is the best substitute of the
words [sentences.

& persor who takes pleasure in eating and drinking.
Options:

1. # Cynic

2. % Fanatic

3. ¥ Epicure

4. % Fugitive

Sub-Section Number: 2
Sub-Section 1d: 9983671107
Question Shuffling Allowed : Yes

Question Id : 99836720400 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the passage carefully and answer the given question.

The Rowlatt Act was a law passed by the Eritish Raj in India in March 1919, indefinitely extending "emergency
measures” [of the Defence of India Regulations Act) enacted during the First World War in order to coritrol
public unrest and root out conspiracy. Fassed on the recommendations of the Rowlatt Cormrmission, narmed
after its chairman, Eritish judge Sir Sidney Rowlatt, this act effectively authorised the government to imprisorn,
without trial, any person suspected of terrorism living in the Raj. The Rowlatt Act gawe British imperial
authorities power to deal with revolutionary activities. Mahatma Gandhi, among other Indian leaders, was
extremely critical of the Act and argued that not everyone should be punished in response to isolated political
crimes. Gandhi and others found that constitutional opposition to the measure was fruitless. 50 on April 6th, a
"hartal” was organized where Indians would suspend all business and fast as a sign of their hatred for the
legislation.

Sub questions

Question Number : 76 Question Id : 99836720401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the Rowlatt Act passed?

Options:

1. % August, 1919
2. % April, 19149
3. % March, 1919
4 % Sept, 1919

Question Number : 77 Question Id : 99836720402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why was the "emergency rmeasures” enacted during the First World War?

Options:

1. % To control public unrest and end conspiracy.
2. * Toincrease the supplies of food.

2. % To help Indians voice out their opinions.

4. % Toexpress hatred for the legislation.

Question Number : 78 Question Id : 99836720403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the chairman of the Rowlatt Commission?

Options:

1. * Sir Cornwall Rowlatt
= % Sir Sidney Rowlatt
3. % 5ir Baj Rowlatt

4. % Sir Warren REowlatt

Question Number : 79 Question Id : 99836720404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What authorisation was givernl to the Governrment according to Rowlatt Act?

Options:
1. * To punish people helping British Gowerniment.

2. ® To provide weapons for the First World War.



2. % Tocharge high prices from Indians.

4 % Toimprison any person who is suspected of terrorism.

Question Number : 80 Question Id : 99836720405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wy did the Indians organise the "hartal"?

Options:

1. * Toextend help to British Governiment.

2. ¥ To show their hatred for the Rowlatt Act legislation.
2% Asit was mandatory according to Rowlatt Act,

4. % Otherwise they would be sent to jail.

Question Id : 99836720400 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension

Read the passage carefully and answer the given question.

The Rowlatt Act was a law passed by the Eritish Raj in India in March 1919, indefinitely extending "emergency
measures” (of the Defence of India Regulations Act) enacted during the First World War in order to control
public unrest and root out conspiracy. Passed on the recormmendations of the Rowlatt Cornrmission, narred
after its chairman, British judge Sir Sidney Rowlatt, this act effectively authorised the governrment to imprison,
without trial, any person suspected of terrorism living in the Baj. The Rowlatt Act gawve Eritish imperial
authorities power to deal with revolutionary activities. Mahatrna Gandhi, among other Indian leaders, was
extremely critical of the Act and argued that not everyone should be punished in response to isolated political
crimes. Gandhi and others found that constitutional opposition to the measure was fruitless. So on April 6th, a
"hartal" was organized where Indians would suspend all business and fast as a sign of their hatred for the
legislatiorn.

Sub questions

Question Number : 76 Question Id : 99836720401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
when was the Rowlatt Act passed?

Options:

1. % August, 1919
2. % April, 1919
3 ¥ March, 1919
4 % Sept, 1919

Question Number : 77 Question Id : 99836720402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why was the "emergency measures” enacted during the First World War?

Options:

1. ¥ To control public unrest and end conspiracy.
2. % Toincrease the supplies of food.

3. % To help Indians voice out their opinions.

4. % Toexpress hatred for the legislation.



Question Number : 78 Question Id : 99836720403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the chairman of the Rowlatt Conmumission?

Options:

1. ¥ 5ir Cornwall Rowlatt
2. ¥ Sir Sidney Rowlatt
% % 5Sir Raj Rowlatt

4 % Sir Warren Rowlatt

Question Number : 79 Question Id : 99836720404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What authorisation was givenl to the Government according to Rowlatt Act?

Options:

1. # To punish people helping British Governrment.
2. % To provide weapons for the First World War.
2. ® Tocharge high prices from Indians.

4. ¥ To imprison any person who is suspected of terrorism.

Question Number : 80 Question Id : 99836720405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why did the Indians organise the "hartal"?

Options:

1. ¥ To extend help to British Government.

2. ¥ To show their hatred for the Rowlatt Act legislation.
3. % Asit was mandatory according to Rowlatt Act.

4. % Otherwise they would be sent to jail.
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Section Marks: 20
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Question Number : 81 Question Id : 99836720406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TimiET na # ow et # & 39 e @1 oa9 @ S 3ot & a97 81

Options:

1. % qree
2. % TEmar
3. ¥ mEe
4. % Fre

Question Number : 81 Question Id : 99836720406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng ®, oW Awedt § 9, 39 THwed @7 a9 & S SUe # &7 2]

Options:

1. % wrie
2 % T
3 ¥ g
4 % Frr

Question Number : 82 Question Id : 99836720407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TieiET ng H, oW Sweat § 8, 39 @1 Swetd @7 o0 @ A Uedd | o4 952 gl

Options:

1. damer
2 % gidaT
3 ® T

4. % giin

Question Number : 82 Question Id : 99836720407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
AT mg §, g Deed § 9, 39 951 Td@wed &1 4= ¢ A7 Iedd o a7 9eg, 8l

Options:
1. damir
o % i



3. % e
4. % giiw

Question Number : 83 Question Id : 99836720408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET ng H, ox Tweat # €, e s & W Feager IRT ey # o9e 75

Options:

1. % & EmdT
o FamE
3 % &R
4 % guT

Question Number : 83 Question Id : 99836720408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET v 8 ox Tweat # €, T v & o dager ke Hwew # 7 o9= 740

Options:

1. % & fdudT
o Faw
3 % FfemT
4. % gug

Question Number : 84 Question Id : 99836720409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # or Tt # € 39 e o7 909 39 ST &6 & 9 9T 981 [dwe 50

G ST ST O Wl AT
Options:

1. % Tpag T

= % ey e

3 % gad gy

4. ¥ ToraamEE

Question Number : 84 Question Id : 99836720409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, O e #§ §, 39 Swe @7 =99 o A1 Ga9TH & U 9T a5 fawe gl

g ST S0 T Ul ST
Options:
1. % o T

o B greey IR
3 ® on ey
4 & TaEE



Question Number : 85 Question Id : 99836720410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateET v ®, o Bwedt § & 39 Swew @7 =0 o S gAmmedt seg @ aet Haer 751 3

Fa
Options:

1. % gugq
2. ¥ =T
3 % gl
4. % s

Question Number : 85 Question Id : 99836720410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o ng #, oW Hwedt § 9, 39 Hwed @ 9a9 & A1 aARit d5g @7 957 Haed Tal 8]

ETE]
Options:

1. % Jusd
2. & T
3. ® gl
4 s

Question Number : 86 Question Id : 99836720411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEcRET ng #, oW el # 9, 39 ey @71 909 @ A1 [Da W J=g B 9949 SR0T [d@ed 3]

TEmt
Options:

1. % 35
2 % 3ET
z. ¥ aTEt
4 % geandf

Question Number : 86 Question Id : 99836720411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng | o Beedt § & 39 Swew o1 a9 o A1 BT g=g 77 qe9e sreT Awer 9

FeHt
Options:

1. % 35
2 ® 3ET
% ¥ aTerdr
4 % e}

Question Number : 87 Question Id : 99836720412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
AT vg  ax Teet # € 39 Been w1 =09 @ 1 oe we & Ay 3T BT an

Options:

1. % 9w
2 % =g
AR
4. & omT

Question Number : 87 Question Id : 99836720412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeET ng | o Bwedt § 9 39 ey @1 a9 ot =t e wome & g 3fee Bwen gh

Options:

1. % wwam
2 & g
3 % g
4. & @

Question Number : 88 Question Id : 99836720413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fwed! § 9, 39 d51 Twed @7 a9 & 1 aeaiat & @0 UF deg @7 Tded 5

ST ATE T FAT 5l
Options:

1. % gt

2. o TAmigt

3. % gEw

4 ® maAgE

Question Number : 88 Question Id : 99836720413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr et # 4 39 987 Hwen &1 g F9 AT aeriat & g 0w geg @ Heen gn

AT HE T FATE
Options:

1. % migt

o, ¥ TmgT

= % Ogw

4 % gaAEE

Question Number : 89 Question Id : 99836720414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty v /. ox Teedt # 9, e v & oy Feargaw sk Heer &1 o9 340

Options:

1. v TawgTs
2 % Har

3 % T T
4. % e

Question Number : 89 Question Id : 99836720414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET v 8 ox Tweat # €, T v & o dager ke Hwew # 7 o9= 740

Options:

1. v "y
2 % @

CRR R CIRIE
4 % e

Question Number : 90 Question Id : 99836720415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tafeliad wa #, IR et § 9, 79 ey &1 =2 3 A1 ek T # 6ig e 9o & Gl sree fdae 71

Options:

1. & aifgem
2 % wrdiwr
z. % i
4 ® wfEerat

Question Number : 90 Question Id : 99836720415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT ng o, o deedt § &, 39 Ewer @1 e & = ek s & 6 ageae geg 7 gewt seo fHwed g1

Options:

1. AfEEm
o % ST
3. % crdtE
4. % g

Question Number : 91 Question Id : 99836720416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeTET wer #, = et # 9, 39 Towey #7120 #¢ 1 iew @I F 160 g 96 @ Gl g fdwe 71



Options:

1. % gt
= ¥ T

3 % g
4. % e

Question Number : 91 Question Id : 99836720416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trafeiad wa # IR et # 4, 39 fowey @7 e 3 1 ok T 3 oy dgeee dog @ Hedl srew fdae 21

Options:

1. % zdaf
2 ¥ TdT

3. % g
4 % Fyditaw

Question Number : 92 Question Id : 99836720417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wg #, = et # €, 39 fewen @1 o o S i ' & 60 Sy deg o Had ST W gl

Options:

1. % e
2 % et
3. ¥ aier
4 % gt
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Question Number : 101 Question Id : 99836720427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hypoxaemia is;

Options:

; % Increased rate of breathing

- « alack of oxygen in the blood

- # Do oxygen reaching the brain

4 w absence of breathing

Question Number : 101 Question Id : 99836720427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 99836720428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is Hypoventilation?

Options:

; » Deep breathing with marked use of abdominal muscles.

- u Increased rate and depth of breathing.

o « lregular, slow, shallow breathing.

4, = High partial pressure of carbon dioxide.

Question Number : 102 Question Id : 99836720428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 99836720429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the following methods of oxygen administration system, which method comes under low flow system?
Options:
, = Tracheostomy mask

> % Venturi mask



s % Oxygen hood

4  Simple face mask
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 99836720430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Abduction movement is:
Options:

| « moving away from the median line

- % moving towards the median line

- » moving through a circle. in combination

4 w rolling inwards

Question Number : 104 Question Id : 99836720430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 105 Question Id : 99836720431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inflammation of the tongue is known as:

Options:

; = gingivitis

5 « Blossitis

= % halitosis

4 % canthus

Question Number : 105 Question Id ;: 99836720431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 99836720432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The rationale to provide a mirror to encourage a patient to comb/brush hair in a preferred style is:
Options:

, w topromote relaxation and patient comfort

- % {0 prevent transmission of microorganisms



- u foprevent cross-infection

4 « to promote self-esteem in the patient

Question Number : 106 Question Id : 99836720432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 99836720433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 99836720433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Topping and tailing’ means:

Options:

, « towash the baby’s face and bottom.



« toremove apron and gloves and wash hands.
¢ torecord in nursing care records.

. to Apply apron, wash hands and apply gloves.

Question Number : 108 Question Id : 99836720434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the INCORRECT statement regarding injury caused by sharp objects:
Options:

. wash the area thoroughly with soap and water

Do

- u cover the injury with an occlusive waterproof dressing

= « suck or rub the injury

4 = encourage bleeding from the wound

Question Number : 108 Question Id : 99836720434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 99836720435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With respect to handwashing procedure, identify the incorrect statement:
Options:

; = Rollup sleeves and remove jewellery/wristwatch.



- w Dispense cleaning agent from dispenser.

5 % Wet hands and wrists thoroughly.

4 « Use bars of soap.

Question Number : 109 Question Id : 99836720435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 99836720436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

With respect to spillages of blood or body fluids, identify the incorrect statement:
Options:

, « Remove disposable gloves and apron, and clean the spillage with bare hands.

-~ u Place a wet-floor warning sign over the affected area.

= u Absorb liquid using paper towels, and dispose into a yellow clinical waste bag at the site.

4 # Mop the floor using hot soapy water and a designated mop.

Question Number : 110 Question Id : 99836720436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 111 Question Id : 99836720437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With respect to the disposal of clinical waste, which colour is used for the disposal of glass and aerosols?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

,  White plastic or clear bags

- Brown paper bags or boxes

- Black bags

4 Yellow bags

Question Number : 111 Question Id : 99836720437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 99836720438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



An eating disorder in which binge eating is followed by depression and guilt. self-induced vomiting and purging, and.
painful or difficult swallowing, is called:

Options:
, w dysphagia

- % malnutrition

5 = asphyxia

4 + bulimia nervosa

Question Number : 112 Question Id : 99836720438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 99836720439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Wernicke Korsakoff syndrome is caused by the deficiency of:

Options:
1 « thiamine
- % riboflavin

= % biotin

4 % folic acid

Question Number : 113 Question Id : 99836720439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id ;: 99836720440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The mineral which functions as a prosthetic group in enzvmes is:
Options:

1 % sodium

» % potassium

5  copper

4 % lithium

Question Number : 114 Question Id : 99836720440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 99836720441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The essential amino acid which is not synthesized in our body is:



Options:
1 + histidine

> % tyrosine

5 % arginine

4 # proline

Question Number : 115 Question Id : 99836720441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 99836720442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Strict vegetarians/vegans are at the risk of developing a deficiency of:

Options:
1 % Vitamin B1

- % Vitamin B3
=z % Vitamin B6

4 « Vitamin B12

Question Number : 116 Question Id : 99836720442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question Id ;: 99836720443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The enzyme which catalvzes geometric or structural changes within a molecule is:

Options:
, w hydrolases

» # lyases

3 « Isomerases

4 = ligases

Question Number : 117 Question Id : 99836720443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 99836720444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of synthesis of glucose from a non-carbohydrate source is called:

Options:



; » 8lycogenesis

- « gluconeogenesis

- = glycogenolysis

4 % lipogenesis
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Question Number : 119 Question Id : 99836720445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The structure which provides an anchor for the mitotic spindle is:

Options:

 w lysosomes

-~ % polysome

z % telomer

4 « Kkinetochore

Question Number : 119 Question Id : 99836720445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 99836720446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Max Wertheimer and his colleagues founded a school of psychology called:

Options:
1 # structuralism

-  gestalt psychology

% % functionalism

4 % behaviorism
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 121 Question Id : 99836720447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the author who founded psvchoanalysis:

Options:
, = JeanPiaget

» # Carl Jung

=  Sigmund Freud

4 % Wilhelm Wundt

Question Number : 121 Question Id : 99836720447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 99836720448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The type of memory that holds information received from the sensory register for up to about 30 seconds. is called:
Options:

1 ¥ short term memory

- % long term memory

3 ® semantic memory

4 # episodic memory
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the feature that is the incomplete fusion of the posterior lamina of the fifth sacral vertebra, offering access to the
sacral canal, which is clinically important for caudal anesthesia.

Options:



, = Sacral promontory

- w Four paired anterior foramina

- % Posterior sacral foramina

4 « Sacral hiatus
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Cooper’s ligament. which is used frequently in bladder suspension procedures. is also known as:
Options:

, w lacunar ligament

- % inguinal ligament

- o lectineal ligament

4 % sacrospinous ligament
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Question Number : 125 Question Id : 99836720451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Follicular and luteal phases are the division of which phase of the menstrual cycle?
Options:

, « Ovarian phase

> w Uterine phase

- » Proliferative phase

4 # Secretory phase
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A polyurethane vaginal pouch attached to a rim that partly covers the vulva is known as:



Options:
1 R coppert

> % latex
= « female condom

4 w horplant

Question Number : 126 Question Id : 99836720452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TArgee A I v e () @ SE @ § S e 79 ¥ 0w (Fe) # HgT War
¥ W AF ¥ ST S 2

Options:
1 ® CRE a-

. » (A8 (*IH)

. » HfgaT F=1H

, x TET gsFd THNTF (FATT)

Question Number : 127 Question Id : 99836720453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Name the type of pregnancy where implantation of the fetus is in the fallopian tube, and produces pain with acute
dilation of the tube:

Options:
1 % Molar pregnancy

= % Still birth
Multiple pregnancy

3 R

4 o Ectopic Pregnancy
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Single Line Question Option : No Option Orientation : Vertical
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Both, the luteinizing hormone (LH) and follicle-stimulating hormone (FSH) in the pituitary, regulate simultaneously by:

Options:
, = corticotropin-releasing hormone

-  hypothalamic gonadotropin-releasing hormone

5 w thyrotropin-releasing hormone

4 = growth hormone—releasing hormone
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Question Number : 129 Question Id : 99836720455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the internal structure of the brain which is the source of all the neurohypophysis hormone production:

Options:
1 % Lateral ventricle

- % Thalamus

5  Hypothalamus

4 % Cerebellum
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Antigen specific immune responses mediated directly by activated immune cells rather than by the production of
antibodies are called:

Options:
, « cellular immune response

- % humoral immune response

- » antibody dependent response

4 % antigen dependent response
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Correct Marks: 1 Wrong Marks: 0.25
The production of antibodies is called:

Options:
L % cellular immune response

5 o humoral immune response

- u antibody dependent response

4 % antigen dependent response
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Prophase, metaphase, anaphase, and telophase are the phases of:
Options:

1 « mitosis

- % translation
%z % Ineiosis

4 % transcription
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Vessels supplying blood to organs are known as:

Options:
1 « visceral vessels

- w parietal vessels

- % letroperitoneal vessel

4 % non-visceral vessels
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The average head circumference of a full-term new born baby is:

Options:
1 % 25-—-28cm

> % 28—30cm
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Options:

. % 25 & 28 cm

> % 28 & 30 cm
- % 30 & 33 cm

4« 33 ® 35 cm
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Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
With a sudden extension of the neck, the arms abduct and move upward and the arm forms a *C". this is seen in:

Options:
1 % Galant reflex

~ « Moro reflex
= % Babinski reflex

4 % Plantar reflex
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The scope of nursing that focuses on prevention and is directed toward persons and families within a community is
called:

Options:
; = healthy policy nursing

- w informatic nursing

- % midwife nursing

4 w community based nursing
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Piaget’s stage of cognitive development for the 7- to 11-year-old is the period of:
Options:

1 # sensorimotor

- % preoperational
-  concrete operational

4, = formal operational
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Question Number : 138 Question Id : 99836720464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Acute interstitial pneumonia is otherwise known as:

Options:
1 « acute bronchiolitis

> % bronchitis

- % bacterial pneumonia

4 % acute nasopharyngitis
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Correct Marks: 1 Wrong Marks: 0.25
When a small child is shaken by the arms or shoulders in a repetitive, violent manner, this condition is called:

Options:
, » DeQuervain syndrome

- « Shaken baby syndrome

= # Munchausen syndrome

4 # Marfan syndrome
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Chemical compounds (minerals) that break down into ions when placed in water are called:

Options:
1 % intracellular fluids

- % extracellular fluids

5  electrolytes

4 ® water
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Question Number : 141 Question Id : 99836720467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the type of feeding that provides nourishment directly through a tube passed into the stomach:
Options:

| ® Tube feeding

o  Gavage feeding

- u Gastrostomy feeding

4 # Oral feeding
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 99836720468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
device is a snug wrap that is effective when performing a scalp venipuncture, inserting a nasogastric tube, or
performing other procedures that involve only the head or neck.

Options:
L ¥ Mummy restraints

> % Clove hitch restraints
=z % Jacket restraint

4 % Commercial elbow restraint
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question 1d : 99836720469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three characteristic stages of response to separation have been identified as protest. despair and:
Options:

, w anxiety

> « denial

5 % bargaining

4 % anger
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Signs including temperature. pulse, respirations. and blood pressure, that are taken at each visit are called:
Options:

|  Vital signs

- % COMMON Signs

- % Special signs

4 = abnormal signs
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Question Number : 145 Question Id : 99836720471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Flaring of the nostrils might indicate:

Options:
, = injury

- % congenital anomaly

5 % Cyanosis

4 « lespiratory distress
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The immunoglobulin present in colostrum is:
Options:

Ie G

p-

5 of IgA
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Correct Marks: 1 WrongMarks: 0.25
Tuberculosis is caused by:

Options:
1 « bacteria
> ® Virus

5 % parasite

4 = fungus
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Widal test is used to diagnose:

Options:
, = leprosy

> u poliomyelitis

z % rabiles

4  typhoid
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Question Number : 149 Question Id : 99836720475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Rh antigen is:

Options:
, = Antigen A

- w Antigen B

5  AntigenD

4 = Antigen O
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The valve that controls the blood flow between the right atrium and the right ventricle is:

Options:
1 #% mitral valve

-  (ricuspid valve

- % pulmonary valve

4 % aortic valve
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A heart rate of more than 100/minute is called:
Options:

, = bradypnoea

» = tachypnoea

- w bradycardia

4 « tachycardia
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Question Number : 152 Question Id : 99836720478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Intermittent claudication is seen in;
Options:

1 ® aortic aneurysm

- % angina pectoris

-  peripheral arterial disease

4 = myocardial infarction
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A condition that causes thin, concave nails, raised at edges, looking like a spoon is called:

Options:
, = Pparanychia

-  koilonychia

- % Cyanosis

4 % clubbing
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Sensitivity to light is called:
Options:

. = polydipsia

- « photophobia

- % aerophobia

4 = polyphagia
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Question Number : 155 Question Id : 99836720481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vitamin D helps in the absorbtion of:

Options:
1 « calcium

- % sodium

5 % potassium

4 % mmanganese
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In case of burns, the involvement of epidermis is categorized under:
Options:

, = fourth degree

- u third degree

5 % second degree



4 « Hrstdegree
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Question Number : 157 Question Id : 99836720483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
After the wound healing, scar tissue is formed by:

Options:
, = macrophage

- w heutrophils

- « collagen and fibroblasts

4 % osteoblasts
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Question Number : 158 Question Id : 99836720484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Preparing the patient both physically and psychologically is done during the period.
Options:

, = Intraoperative

-  Ppreoperative

- % postoperative

4 % Iincubation
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Question Number : 159 Question Id : 99836720485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pain. mild to severe. felt in the area where an extremity has been amputated. is called:
Options:

; = referred pain

- w Tradiating pain

5 u arthralgia



4 « Phantom limb pain
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Metabolic alkalosis is seen in:
Options:

1 # renal failure

- % diabetic ketoacidosis
= « excess intake of antacids

4 % diarrhea
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Question Number : 161 Question Id : 99836720487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The term *Sociology’ was coined by a French philosopher named:

Options:
Auguste Comte

1.9
- % Aristotle

= % Von Wiese

4 % Simmel
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Question Number : 162 Question Id : 99836720488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the great Greek philosopher who remarked that man is a social animal:

Options:
, = Auguste Comte

- o Allstotle
2 % Von Wiese

4 % Simmel
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Question Number : 163 Question Id : 99836720489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a kind of social institution?

Options:
] % Marriage

> % QGovernment

5 o Family

4 % Employment

Question Number : 163 Question Id : 99836720489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 99836720490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the information is collected from 100% of the population, then it is called:
Options:

, % outputreport

5 o Census

- % COmMMuNity survey

4 ® market research SUIrvey

Question Number : 164 Question Id : 99836720490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 99836720491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following diseases CANNOT be prevented by vaccination?
Options:

; = Diphtheria

- % Tetanus
z % Influenza

4 « AIDS

Question Number : 165 Question Id : 99836720491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Hansen’s bacillus causes:
Options:
, « leprosy

- # guinea worm disease

5 # tuberculosis

4 % thromboembolism

Question Number : 166 Question Id ;: 99836720492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 99836720493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A group decision-making method in which ideas are pooled and discussed face-to-face after members initially think and
write down their ideas independently, is called:

Options:

, = feedback report

-  hominal group technique

- % recombinant gene technique

4 = teaching technique

Question Number : 167 Question Id : 99836720493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 168 Question Id : 99836720494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Homemade Oral Rehydration Solution (ORS) can be prepared by using llitre safe water. 1/2 teaspoon (3.5 g) of salt and
of sugar.

Options:

¢ 1 large teaspoon (10 g)

1.%

5 % 2 large teaspoons (20 g)

- w 3 large teaspoons (30 g)

Y, 4 large teaspoons (40 g)
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Question Number : 169 Question Id : 99836720495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Onchocerciasis causes:
Options:

, = Ppoliomyelitis

> « river blindness
= % malaria

4 % acute respiratory tract infections
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Question Number : 170 Question Id : 99836720496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Parents working from home via the personal computer and residing in comunon households is called:
Options:

, « foster family

- % loose shirt family

- » Wuclear family

4 # commuter family
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Question Number : 171 Question Id : 99836720497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The *man-living-health’ theory is also called:
Options:

| « Parse’s Human Becoming Theory

-~ # Rogers’ Model of the Science of Unitary Beings

%z % Pender’s Health Promotion Model

4 = Roy’s Adaptation Model

Question Number : 171 Question 1d : 99836720497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 172 Question 1d : 99836720498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The study of the entire genome is called:
Options:

| genomics

> w genetics

- % genetic polymorphism

4 = genetic code

Question Number : 172 Question 1d : 99836720498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 173 Question Id : 99836720499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A state of successful mental functioning, resulting in productive activities, fulfilling relationships. and the ability to
adapt to change and cope with adversity is called:

Options:
; w» mental health care system

> « mental health

5 w community mental health care system

4 # community mental health
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Question Number : 174 Question Id : 99836720500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Hydrocarbon, butyl nitrate comes under which group of drugs involved in substance abuse?

Options:
1 % Narcotics

> # Steroids
3 % Stimulants

4 + Inhalants

Question Number : 174 Question Id : 99836720500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 175 Question Id : 99836720501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A situation in which a person’s immunity to one agent provides immunity to a related agent as well is called:

Options:
, = Ppassive immunity

o  active immunity

5 & Cross-immunity

4 » herd immunity

Question Number : 175 Question 1d : 99836720501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Headquarters of WHO are located in:

Options:
New Jersey

L.
o o Geneva

- # New York

4 % Vienna
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 99836720503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A husband, wife and children living in the same house comes under the term:
Options:

, w» commuter family

o « huclear family

- u foster family

4 % step family
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question 1d : 99836720504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The innermost layer of the uterus is:

Options:
| % perimetrinm

-, % Mmyometrium

3 o endometrium

4 = myocardium
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Question Number : 179 Question Id : 99836720505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The start of menstruation in females is called:
Options:

1 « menarche

- % enopause

5 » andropause

4 w menorrhagia
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Question Number : 180 Question Id : 99836720506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At ovulation, a mature follicle ruptures in response to a surge of:

Options:
; = androgen

5  luteinizing hormone

- = prolactin

4 % adrenaline

Question Number : 180 Question Id ;: 99836720506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 99836720507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The hormonal method of contraception is:

Options:
; = cervical cap

- % condoms
-  oral pills

4 » W bectomy

Question Number : 181 Question Id : 99836720507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 99836720508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Oocytes fertilized in the lab and transferred to the uterus is the technique followed in:
Options:

, = gamete intrafallopian tube transfer

- » intracytoplasmic sperm injection

3 o invitro fertilization

4 % surrogacy

Question Number : 182 Question Id : 99836720508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 99836720509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The ectoparasitic sexually transmitted infection is:

Options:
, = chlaymydia

> % gonorrhea

- # hepatitis A

4 « scabies

Question Number : 183 Question Id : 99836720509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 99836720510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A normal person has a CD4 T cell count of;

Options:
1 % 50- 100 cells/ml
- % 100 - 150 cells/ml

5 o 450 - 1200 cells/ml

4 % 150- 175 cells/ml

Question Number : 184 Question Id : 99836720510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % 50 - 100 cells/ml
> % 100 - 150 cells/ml
z « 450 - 1200 cells/ml

4 % 150 - 175 cells/ml

Question Number : 185 Question Id : 99836720511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The malignant breast cancer is:

Options:
1 % fibroadenoma

- % intraductal papilloma

3 « Invasive ductal carcinoma

4 % mastitis

Question Number : 185 Question Id : 99836720511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 99836720512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fallopian tubes, fertilization takes place in the:



Options:
, « ampulla

> % isthumus
- % fimbriae

4 ® Cervix

Question Number : 186 Question Id : 99836720512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 99836720513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is X-linked recessive disease?
Options:

, = Huntington’s disease

> « Colour blindness

5 = Achondrplasia

4 = Polycystic kidney disease

Question Number : 187 Question Id : 99836720513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 188 Question Id : 99836720514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Aldosterone is secreted by the gland.

Options:
, = pituitary

- u thyroid

5 o adrenal

4 % pineal
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The puerperium period begins after the delivery of the placenta and lasts approximately for;

Options:



1 #% 3 weeks
> # 4 weeks
2 ® 5weeks

4 « 6 weeks
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The neonatal period is defined as the first:

Options:

, = S days of life

18 days of life
5 « 28 days of life

38 days of life
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Correct Marks: 1 Wrong Marks: 0.25
The Self-Care Deficit Nursing Theory was proposed by:

Options:
1 % Margaret A. Newman

> o Dorothea E. Orem

5 = Martha E. Rogers

4 % Rosemarie Rizzo Parse
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the following, which will not come under Client Demographic Elements?
Options:

; = Raceand Ethnicity



> o Auscultation
%z % Date of Birth

4 ® 5Sex
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“Education is an all-round drawing out of the best in child and man, body, mind and spirit” was said by:

Options:
; = John Dewey

> % Pestalozzi
3 « Mahatma Gandhi

4 % Kofi Annan
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Correct Marks: 1 Wrong Marks: 0.25
Laissez Faire style of factors affecting leadership is also called:

Options:
1 % democratic

- % consultative

- % participative

4 « Ifreerein
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Correct Marks: 1 Wrong Marks: 0.25
Following are the duties of administrative managers EXCEPT:
Options:

, % organizing



> w controlling

5 # planning

4 « autocratic
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following are management strategies EXCEPT:

Options:
1 ® operations control

- » performance monitoring

- » staff development strategies

4 Do planning
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A systematic inquiry that uses disciplined methods to answer questions or solve problems is called:
Options:

1 « research

» u knowledge

= % education

4 ® experiment
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Correct Marks: 1 Wrong Marks: 0.25
In quantitative studies, concepts are usually referred to as:
Options:

; = subjects



> o variables

2 % measures

4 % data
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When an attribute is extremely varied in the group under investigation, the group is said to be:
Options:

; = homogenous

> w dependent

3 o llE‘tEi’GgEIlE‘DHS

4 w independent
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Correct Marks: 1 Wrong Marks: 0.25
The generalizability of the research findings to other settings or samples is called:

Options:
5 reliability

L .

- w Sensitivity

5 = Specificity

4 « external Validity
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